i H AN K4 gL Eikad JRH
1 4E 100m TiE3MH | B K 147 11.06 -0.3
7 17 11.06 +0.0
1 4F 400m TE2M | AH MEE 2 iz 50.79
7 7L 51.29
1 4E 1500m B D 2 11 A2 4:08.71
1 4 5000m 7 VI Z NI AN 4 ir 15:27.39
HF —5 (R 15:44.35
14 110mH | P24 | HA AKX 4 fir 15.65 +0.2
Tz 3 Al Hrl BROK 4 i 15.61 +0.0
14 3000mSC | & Bk R SR 3L 9:27.83
HhEF A 8 fir 9:48.27
14 A % R 1 7L 37m14
LTAER Y # R R OHE 6 fir 49m72
2 4F 100m T2 | B fERE 4 i 11.12 +1.8
w’ 7 11.02 +2.8
TEIM | W BEF 1z 11.05 -0.1
w’ 3 10.74 +2.8
2 4f 200m TR 1M | A B 2 fir 21.98 +2.2
w’ 6 fir 21.85 +1.3
TE2H | KE HM 3L 22.04 +1.2
2 4F 400m T2 | WEE A 2 {2 49.84
R 5L 49.55
T | A HERR 3L 49.44
R 8 fir 50.05
2 LB W (LIl S gRA 13m16
Jeilm 4x100mR | TG | I EI(Q) 147 41.47
WA B2)
FHROK—(©2)
AR B (2)
HEPRRE 3 AL | R FE2) 1 iz 41.57
W HIA(2)
SFHROK—(©2)
AR B (2)
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i H VAR K4 gL Bk LR ik
JE3 4X100mR | I B W) FAE(2) 147 41.05
s B m2)
AR 2 (2)
HEE K@)
i 4x400mR | PEE2HH | B AL 3fr 3:25.47
e Q@)
B AR
£ HERE(2)
YRS 2 40 | A1 FERR(2) 1z 3:17.63
W RiAQ2)
SRR ft(2)
EAR (D)
R £ HeRE(2) 2 fir 3:17.65
W RiAQ2)
AR 2 (2)
WA A2
(gEl A K4 [[=Eva ROERk JRGH S
14F 100m TELIM | KM HIK 3fr 12.64 -1.0
w’ 8 fir 12.66 -0.3
TEE2H | FHiL K 1 {7 12.24 -0.7
R 147 11.83 -0.3 REHT
1 4 200m FE1HM | FHiL K 1L 24.87 +0.3
R 147 24.30 +0.3 E=FC
T3 | KA HIK 2 fir 25.38 +2.1
R 7L 25.69 +0.3
1 4F 400m TEE2M | L 2 fir 58.98
N 6 fir 58.20
14 100mH | P24 | BIA Sk 3fr 15.81 -1.5
2 4 100m T | R EhE 4 ir 12.71 -0.4
245 100mH | Ti® 240 | BREF EE 147 14.56 -0.9
N 3fr 14.27 -0.3
24F FhLE | IR OB i Fey 5 R AL 1% 13m84
FE =R RhA 10m78
24F MM | IR B Jig e B AL 4 fir 37m00
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i H A K4 [[=¥ia Gk LR e
B 4x100mR | T4 | A EMHEQ) 147 47.27
Fil R
R Hk()
R A& ©2)
WS 1AL | A7 EHREQ2) 1fir 47.31
Fil #EKR()
Kbk k()
B A& ©2)
w s i EhEQ2) 3 47.08
Fil R
K Hk()
R A& ©2)
el 4x400mR | PHEESFH | KB FHZ2(1) 1z 3:55.75
= H#ET(2)
oA BEE (2)
M =)
YEPRPE 1AL | kil F2EQ) 2 fir 3:51.88
= FHHETH(2)
AE HT2)
el =)
w = IHETH(2) 5fir 3:51.80
Fil HER(1)
AH EHTH(2)
e =)
B 14 400 298
BF- 24 1007 18 A
FBrwe 3fL 625
T 1% 9 22 8
A 24 60 19
Z1#A 5AL 51

9/14~16

%551 0] T

it

HE

R — AR LEEOROE RS (RE - 85/ i)




